Elson Advocacy

March 30, 2022

BY RESS

Ms. Nancy Marconi

Registrar Ontario Energy Board 2300 Yonge Street, Suite 2700, P.O. Box 2319 Toronto, Ontario M4P 1E4

Dear Ms. Marconi:

Re: EB-2021-0205 – EGI Greenstone Pipeline

Enclosed please find the cost claim of Environmental Defence in the above matter.

Yours truly,

Kent Elson

el:	416	906-7305
fax:	416	763-5435

<u>EB-2021-0</u>		<u>mery</u>
COST CLAIM NUMBER 338	SUBMISSION DEADLINE DATE March 31, 2022	CLAIM STATUS Submitted
EB# EB-2021-0205: Facilities: Leave to Construct (New): Enbridge Gas Inc.	OTHER EB#S	PHASE #* 1
INTERVENOR Montgomery, Amanda; +1 (416) 906-7305 amanda@elsonadvocacy.ca	INTERVENOR COMPANY* Environmental Defence Canada Inc., Toronto: Corporation	INTERVENOR TYPE Full Registrant
HST RATE ONTARIO 13.00	EXCHANGE RATE	COUNTRY
HST NUMBER 872151923RT0001	LATE SUBMISSION ALLOWED	EXTENSION DEADLINE DATE

PARTICIPANTS

	ICIFANTS			Participant	
New	Non-Filing Participant First, Last Name	Filing Participant	Total (\$)	Claim Status	
No	,	Montgomery, Amanda; +1 (416) 906-7305 amanda@elsonadvocacy.ca	2,785.45	Submitted	
No	,	Elson, Kent; +1 (416) 906-7305 kent@elsonadvocacy.ca	2,392.21	Submitted	

ATTACHMENTS

Attachment	Attachment Date	Participant	Document Type	Claim Type	Import Message
ED_CvrLtrCostClaim_20220330.pdf			Cover		
ED_CostClaimDocketsandInvoice_20220331.pdf			Letter Cost Claim		
TOTAL LEGAL/CONSULTANT/OTHER FEES 4,582.00	TOTAL DISBUR	RSEMENTS 0.00			TOTAL HST 595.66
TOTAL CLAIM 5,177.66	TOTAL AMOUN	IT AWARDED			
REASON FOR DISALLOWANCE	REASON FOR DISALLOWANG	CE - 2			ON FOR OWANCE - 3
MAKE CHEQUE PAYABLE TO Elson Advocacy, In Trust					
SEND PAYMENT TO ADDRESS				ATTEN	TION
Elson Advocacy Professional Corporation 1062 College Street. Lower Suite Toronto, ON MOBMA9SECTION I am a representative of the Party. I have examined all o incurred and time spent are directly related to the Party's					
This cost claim does not include any costs for work done Party as described in section 6.05 and 6.09 of the OEB's				or officer o	of the

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY Amanda Montgomery DATE SUBMITTED March 30, 2022

	Amanda M	<u>//ontgomer</u>	·v			rch 30, 202
CASE COST CLA EB-2021-0205: Facilities: Leave EB-2021-0 to Construct (New): Enbridge Montgome Gas Inc.	AIM)205 : 1 : Amanda	INTERVEN Montgome 906-7305	 NOR NAME ery, Amanda; + elsonadvocac	. ,	PARTICIP/ CLAIM ST Submitted	
FILING PARTICIPANT Montgomery, Amanda; +1 (416) 906-7305 amanda@elsonadvocacy.ca	NEW PARTICIP No	NON-FIL ANT PARTICI	ING PANT F. NAM	E	NON-FILING PARTICIPANT	L. NAME
SERVICE PROVIDER TYPE Legal Counsel	YEAR CALLED TO E 2020	PRA	IPLETED YEA CTICING/YEA EVANT EXPE	RIENCE	HOURL	.Y RATE 170
CV STATUS (FOR CONSULTANT/ANALYST) CV Required	LAST CV DATE			1	-	RATE RGED 13.00
HEARINGS Yes	CONSULTATIONS	DISE No	BURSEMENT	6		
HEARINGS						
Name	Hours	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Review Application and Evidence Review Application and Evidence	1.70	170	289.00	13.00) 37.57	326.57
Discovery					0.101	
Preparation of Interrogatories	5.00	170	850.00	13.00		960.50
Review Interrogatory Responses	1.50	170	255.00	13.00		288.15
Technical Conference Preparation		170		13.00		
Technical Conference Attendance Technical Conference Follow Up		170 170		13.00 13.00		
Issues List		170		13.00)	
Preparation		170		13.00)	
Attendance at Issues Conference		170		13.00		
Intervenor Evidence					-	
Preparation		170		13.00)	
Interrogatory Responses		170		13.00)	
Preparation of Witness(es) for Atten at Hearing	dance	170		13.00)	
Settlement Conference / ADR Preparation		170		13.00	h	
Attendance		170		13.00		
Preparation of Settlement Proposal		170		13.00		
Attendance at Presentation to Pane	l	170		13.00		
Oral Hearing						
Preparation		170		13.00		
Attendance at Oral Hearing		170		13.00	J	
Submissions Written Submissions	5.60	170	952.00	13.00) 123.76	1,075.76
Oral Submissions	5.00	170	302.00	13.00		1,010.10
Attendance at Oral Submissions		170		13.00		
Other Attendance						
Other Attendance		170		13.00)	
Communication						
With Client		170		13.00		
With Other Parties	0.50	170	85.00	13.00) 11.05	96.05
Motions						
Uroparation of Mation(a) Matariala		170		13.00		
Preparation of Motion(s) Materials	()	· — -			`	
Preparation of Motion(s) Materials Prepare Submissions on the Motion Attendance at Hearing on Motion(s)	(s)	170 170		13.00 13.00		

	170		13.00		
	170		13.00		
	170		13.00		
0.20	170	34.00	13.00	4.42	38.42
	170		13.00		
	170		13.00		
		2,465.00		320.45	2,785.45
	0.20	170 170 0.20 170 170	170 170 0.20 170 34.00 170 170	170 13.00 170 13.00 0.20 170 34.00 13.00 170 170 13.00 13.00 170 170 13.00 13.00 170 13.00 13.00 13.00	170 13.00 170 13.00 170 13.00 0.20 170 34.00 13.00 170 13.00 170 13.00 170 13.00 170 13.00

Attachments

Attachment

ED_CostClaimDocketsandInvoice_20220331 .pdf Document Type Time Docket

Import Message

Hearings, Consultations, Disbursements Attachments

<u>Attachment</u>

Related Disbursement Claim

ED_CostClaimDock etsandInvoice_2022 0331.pdf Document Type <u>Clain</u>

TypeClaim TypeTime DocketHearings

Import Message

Elson Advocacy

Invoice

Environmental De 116 Spadina Ave S		М	arch 29, 2022
Toronto, ON M5V 2K6		File #:	0121
		Inv #:	1173
RE: EB-202	1-0205 - EGI - Greenstone Pipeline		
DATE	DESCRIPTION	HOURS	LAWYER
Oct 1, 2021	Review application re Enbridge Greenstone pipeline; draft notes re case issues and plan for the case; various correspondence	0.70	KE
	Draft intervention request	0.40	AM
Oct 4, 2021	Revise and file intervention request	0.20	AM
Nov 4, 2021	Review EGI's correspondence re: confidentiality	0.10	AM
Nov 8, 2021	Review correspondence from Enbridge re confidentiality; review OEB confidentiality rules and review the request in this case; draft correspondence to the OEB	1.00	KE
	Various correspondence	0.10	AM
Nov 10, 2021	Various correspondence	0.10	AM
Nov 16, 2021	Various correspondence	0.10	KE
	Various correspondence	0.20	AM
Nov 19, 2021	Review and draft submissions on confidentiality	1.00	KE
Nov 23, 2021	Review Enbridge confidentiality submissions	0.10	KE

Kent@ElsonAdvocacy.ca	tel: 416 906-7305
1062 College St., Lower Suite, Toronto, ON M6H 1A9	fax: 416 763-5435

Nov 29, 2021	Confer with A. Montgomery re IRs	0.20	KE
	Confer with K. Elson; review application	1.00	AM
Dec 1, 2021	Review application; begin drafting Interrogatories	1.80	AM
Dec 2, 2021	Review application; confer with A. Montgomery re interrogatories	1.50	KE
	Draft Interrogatories	2.70	AM
Dec 3, 2021	Revise Interrogatories; file and serve IRs	0.50	AM
Dec 17, 2021	Review and analyze interrogatory responses; review PO #2 and diarize dates	0.80	AM
Dec 20, 2021	Review interrogatory responses; draft correspondence re intervenor coordination	0.40	KE
Dec 21, 2021	Various correspondence	0.10	KE
Jan 6, 2022	Confer with A. Montgomery re submissions	0.30	KE
	Confer with K. Elson re: submissions; review and analyze IR responses	0.70	AM
Jan 11, 2022	Draft submissions	1.40	AM
Jan 12, 2022	Draft submissions	0.70	AM
Jan 13, 2022	Confer with A. Montgomery; review and revise draft submissions	0.60	KE
	Confer with K. Elson re: draft submissions; revise submissions	1.80	AM
Jan 14, 2022	Review and revise submissions	1.30	KE
	Revise submissions	1.30	AM
Jan 21, 2022	Review reply submissions of EGI	0.40	AM
Mar 8, 2022	Review correspondence	0.10	AM
Mar 21, 2022	Review Decision and Order	0.20	AM

21.80	\$4,582.00 \$595.66
	\$4,582.00
	\$595.66
	\$5,177.66
	21.80

Amount Now Due

HST #	75532 3078 RT0001
Total HST	\$595.66

\$5,177.66

	Kor				Mai	ch 30, 202
CASE COST CL EB-2021-0205: Facilities: Leave EB-2021- to Construct (New): Enbridge Montgom Gas Inc.	AIM 0205 : 1 : Amanda	Montgome 906-7305	NOR NAME ery, Amanda; +)elsonadvocac		PARTICIPA CLAIM STA Submitted	
FILING PARTICIPANT Elson, Kent; +1 (416) 906-7305 kent@elsonadvocacy.ca	NEW PARTICI No	NON-FIL		-	NON-FILING PARTICIPANT	L. NAME
SERVICE PROVIDER TYPE Legal Counsel	YEAR CALLED TO 2009	PRA	MPLETED YEA ACTICING/YEA LEVANT EXPE	ARS OF RIENCE	HOURL	Y RATE 290
CV STATUS (FOR CONSULTANT/ANALYST) CV Required	LAST CV DATE			12	_	RATE RGED 13.00
HEARINGS Yes	CONSULTATIONS No	DIS No	BURSEMENT	8		
HEARINGS						
Name	Hours	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Review Application and Evidence Review Application and Evidence	0.70	290	203.00	13.00	26.39	229.39
Discovery	1 70	200	402.00	12.00	64.00	EE7 00
Preparation of Interrogatories Review Interrogatory Responses	1.70 0.40		493.00 116.00	13.00 13.00		557.09 131.08
Technical Conference Preparation	0.10	290	110.00	13.00		101.00
Technical Conference Attendance		290		13.00)	
Technical Conference Follow Up		290		13.00)	
Issues List		200		12.00	, ,	
Preparation Attendance at Issues Conference		290 290		13.00 13.00		
Intervenor Evidence		250		10.00		
Preparation		290		13.00)	
Interrogatory Responses		290		13.00		
Preparation of Witness(es) for Atter at Hearing	ndance	290		13.00)	
Settlement Conference / ADR Preparation		290		13.00)	
Attendance		290		13.00		
Preparation of Settlement Proposal Attendance at Presentation to Pane	.l	290 290		13.00 13.00		
Oral Hearing						
Preparation		290		13.00		
Attendance at Oral Hearing Submissions		290		13.00)	
Written Submissions	2.20	290	638.00	13.00	82.94	720.94
Oral Submissions		290		13.00		
Attendance at Oral Submissions		290		13.00)	
Other Attendance Other Attendance		290		13.00	,	
Communication		290		13.00	,	
With Client		290		13.00)	
With Other Parties	0.20	290	58.00	13.00	7.54	65.54
Motions		000		40.00		
Preparation of Motion(s) Materials Prepare Submissions on the Motior		290 290		13.00 13.00		
Attendance at Hearing on Motion(s)		290 290		13.00		
Confidentiality	,	200		10.00	,	

Preparation of Application for		290		13.00		
Confidentiality						
Prepare Submissions on Confidentiality	2.10	290	609.00	13.00	79.17	688.17
Attendance at Hearing on Confidentiality		290		13.00		
Decision						
Review		290		13.00		
Rate Order						
Review		290		13.00		
Prepare Submission on Rate Order		290		13.00		
Total Service Provider Fees						
Total Service Provider Fees:			2,117.00		275.21	2,392.21

Attachments

Attachment

ED_CostClaimDocketsandInvoice_20220331 .pdf

Document Type Time Docket

Import Message

Hearings, Consultations, Disbursements Attachments

Attachment

Related Disbursement Claim

ED_CostClaimDock etsandInvoice_2022 0331.pdf

Document Туре

Claim Type Time Docke Hearings

Import Message

Elson Advocacy

Invoice

Environmental De 116 Spadina Ave S		М	arch 29, 2022
Toronto, ON M5V 2K6		File #:	0121
		Inv #:	1173
RE: EB-202	1-0205 - EGI - Greenstone Pipeline		
DATE	DESCRIPTION	HOURS	LAWYER
Oct 1, 2021	Review application re Enbridge Greenstone pipeline; draft notes re case issues and plan for the case; various correspondence	0.70	KE
	Draft intervention request	0.40	AM
Oct 4, 2021	Revise and file intervention request	0.20	AM
Nov 4, 2021	Review EGI's correspondence re: confidentiality	0.10	AM
Nov 8, 2021	Review correspondence from Enbridge re confidentiality; review OEB confidentiality rules and review the request in this case; draft correspondence to the OEB	1.00	KE
	Various correspondence	0.10	AM
Nov 10, 2021	Various correspondence	0.10	AM
Nov 16, 2021	Various correspondence	0.10	KE
	Various correspondence	0.20	AM
Nov 19, 2021	Review and draft submissions on confidentiality	1.00	KE
Nov 23, 2021	Review Enbridge confidentiality submissions	0.10	KE

Kent@ElsonAdvocacy.ca	tel: 416 906-7305
1062 College St., Lower Suite, Toronto, ON M6H 1A9	fax: 416 763-5435

Nov 29, 2021	Confer with A. Montgomery re IRs	0.20	KE
	Confer with K. Elson; review application	1.00	AM
Dec 1, 2021	Review application; begin drafting Interrogatories	1.80	AM
Dec 2, 2021	Review application; confer with A. Montgomery re interrogatories	1.50	KE
	Draft Interrogatories	2.70	AM
Dec 3, 2021	Revise Interrogatories; file and serve IRs	0.50	AM
Dec 17, 2021	Review and analyze interrogatory responses; review PO #2 and diarize dates	0.80	AM
Dec 20, 2021	Review interrogatory responses; draft correspondence re intervenor coordination	0.40	KE
Dec 21, 2021	Various correspondence	0.10	KE
Jan 6, 2022	Confer with A. Montgomery re submissions	0.30	KE
	Confer with K. Elson re: submissions; review and analyze IR responses	0.70	AM
Jan 11, 2022	Draft submissions	1.40	AM
Jan 12, 2022	Draft submissions	0.70	AM
Jan 13, 2022	Confer with A. Montgomery; review and revise draft submissions	0.60	KE
	Confer with K. Elson re: draft submissions; revise submissions	1.80	AM
Jan 14, 2022	Review and revise submissions	1.30	KE
	Revise submissions	1.30	AM
Jan 21, 2022	Review reply submissions of EGI	0.40	AM
Mar 8, 2022	Review correspondence	0.10	AM
Mar 21, 2022	Review Decision and Order	0.20	AM

21.80	\$4,582.00 \$595.66
	\$4,582.00
	\$595.66
	\$5,177.66
	21.80

Amount Now Due

HST #	75532 3078 RT0001
Total HST	\$595.66

\$5,177.66